log (L*gs/L*g5,) LABJIND lightness L* gs normalized

log AY/IAY,)

LABJND tristimulus value difference

L/l 500 to the background lightnessL* gs AYIAY, AY normalized to AY,,

24 100-LF (= (Ua) {In (1+aY) ~In(1+aYy} [1all| 24100 4= (Wa) {In (1 +aY)-In(1+aYy} [1a]
L¥/L* 4= (a) {In[1+b-(Y/Y)] - In (1 +b)} [1b] L¥L* 4= (ta) {In[1+ b (Y/Y)] - In (1 +b)} [1b]
a=0,3411 t=88,23 t/a=258,6 b=6,141 [1 normalized tristimulus value Y difference °

dy/idy,=Q+aY)/(1+aYy, R 1’38[9d]
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log [(AY/Y) / (AY/Y),]  LABJIND-Y sensitivity log[(Y/AY) / (YIAY),)]  LABJIND-Y contrast
S/Su=AYMIAYY),  normalized to AY/Y), CilCu=(YIAY)(Y/AY), normalized to (Y/AY),

28100 = (Wa) {In(1+aY)-In(1+aYy} [1a]|| 28 10007 L* (= (V) {In(1+aY)-In(Ll+aYy} [1a]
L¥L* = (Ya) {In [ 1+ b (Y/YQ] - In (1+b)} [1b] LHL* = (a) {IN[ 1+ b (Y/YQ] - In (1+b)} [1b]
dYry) 1 dYN)y tristimulus value Y sensitivity (Yrdy) / (Y/dY)y tristimulus value Y contrast

=[(1+aY)/Y]/[(1+aYy)/Yy] [3f] =[Y/(L+aY)]/[Yu/(1+aYy)] [4h]
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